B7 T OERBERSHEBIRER

1. REMEM

] B7 40K R B7TEEE  (FA)
X 4N\
snem | mEeR | BRe IEf smem | mEen | eas Bk
23R 30 0 30 33 30 0 30 34
KRR 370 325 695 3o 370 280 650 43t
WA 400 325 725 40t 400 280 680 43
QTUEHE (BB 4411 (4265 QFUEHE (BB 4111 (45258
2. EEARHME
S 5 5 BT s I BEER | XEAER
Y3k F5v2500m F % 40WT27 4 2o
W -
Y3—FR5v21000m F ® 19380508 M8 FHYE
BB
Y3—kRS5y2 500m F H 520144 f4fl > BAE
27— b & W AW
5~ ~5v2£1000m F ® 1945W250 M4k > REE
Y3—kRS5v2 500m $ ® 500505 f4f > BAR
e 5 P8 X
5~ ~5v21000m F ® 1939W572 @5f > BAE 10
BEA B A B | 1502158 5 3t
= 18l 1120920 47 i
BEC
= Bt | 191719 831
YPAPYRRSO-A | 5 R A B K | 1904W25 7 31
2 % - Ve
B B | 1508W7S 1071
= A% | 19506W9T 30
Wz
A0 # B | 19513W10 68t
BBB pozAYRU- | B B 3% 2 | 325434 261 10
A A T — SRS 10
=55 0 30
3. ARERR
S 5 e EES s It e
100m BoO® K % | P OB 10WO0 6l FHYE
BB 800m K % ® A | P OB 1954W00 M7 FHYR
400mH m P = | ¥ % 51076 W5 > BE
(B R & R
P B A
PBLE 4X100mR BWoO® A H# | P OB 41166 f5f > BAE
wooom A
B A @
T 800m B O % E | P OB 291026 M@5M FBAE
100m ® b B = | FOE 11B19 M6 FHYE
300mH % A K | F E 39M20 el > BYR
5000m M B O F B | R B 14932032 18
HBA s t T W M| R B 4mos 3t &
EiE! A B K (| R B 7m20 7t 2
Nyo— B OA % A % | R B 50m66 194
0 OB % A | R B 62m27 3t 6
e - - | ¥ E 11930 @3l —
) 100m B A B | gl 1144 sl ERBRE
3000m 5 R M B | FE O521W65 #14M > BAE
VBB
DI = ® = B | R B 6m35cm 2ot
g % % ® % B | R B 37m22cm 14
800m %z 8 B F E 196THTE MTH > BAE
DBIE 5000mW 5 8 K B | R B 20920M90 2t 7
E - T L
100m o £ % | ¥ OE 12054 fem > BYE
WA 3000m X B = 3 | R B 9549890 16
R B B % | R B 9m2s 194
100m x B B # | ¥ E 12088 5 > BYE
WYB
100mH BB & 0| FE 1435 5k > BAE
EiE! & A E B | R B 5mi4 30
=gk 5 A = M| R B 10m90 2 4t

317




50mB/@fF T E 23079 FEBGE
[:Ij —
100mEE 3 ® 51159 SRR
5OmEE T ' 24154 3 @EGE
& M
100mE e $ ® 53059 SRR
100mM/NF 51 g = 3 ® 58153 SRR
Kk (BB
100misIKE & | P OE 190mo5 3 @AGE
100mE e o m OB | ®OE 190820 SRR
5OmE E O | B OB 2709 SRR
100mE e B B | F B 190064 3 @EGE
. 400m B8 B & B | 3 B 49536W52 2 @EE
i TOZNIVIb—T770 /6792797
Kk (CAS) FTaTITwvhk 4 = 2)=)b—F71>2/68.1667Tx 1711
o ! B8it 136.0946
Kk GRSA) FHTEA = = = | 306854 161
= % B | BmEOL
Kx (OWS)
£ & B | mror o
( = )
it EE
% N
r R
= B
% g X
5 51
HyH— };f gﬁ 1@ 1—2 =Ee 1 EEEGE
= 1%
&
= R
= s
0 5
L % 10
5 S 1Es o—2 TFme 1 OEIGE
7K = =
40 B 82 | 1@% 2-1 —==8 o
__ i £ M| 20% 1-2 BHE 2 ORI
g —
j==| A 208, 2—1 SkiE TN
X B £ | 3% 0-2 AHE SORAE
10 B e o e e
e 2 3| 1o® o—2 mIs 1 @EHLE o
o - | ® = 3p22m56 I
T )VZANI 1\ = P Rl 353544 EERPHELE
- 3 = 34322856
STILZAIL SR fEB 37’{ WEEES 3520078 SESRBSBR
~ SESLB 391 7W89
™=k (B 8 B &)
= 5 # &
REosoA TN | = o Bk 3 | DR, 492092 AR
= My BL% I | mmEme 3h57m26 FEME
A - 4
w B B8 = 10
( )
B x
& g B
i =
= & B
- 2z
El A n
5 188 3-1 =)E
g G 2| wrmm 2-3 ipAR Sy 20
EE 4
i ¥ 3
— = K
EOBE % B
k B B &
(B R E k)
S N~ R
%= W B K
M om & B
mOB R
B F B @ | 188 10-0 @mes
R T — B B 8 K| #REE 3-3 (SO3-2) iFAS - 5o
= B B B | &£ 4-0 ReS [
BN % & | R DD WEEB XHF—/ B
E 5 Nl R
X N B ®
5 I B ¥
F OB o= 5
2 % W e
EEEED
Z g I 5y
w B T &
w .
R xz
)51 B | R 3-0 HAS
= | 1-3 =Zwe 3 48
2| sirem 7-0 =BR

i)
B &EME

{ ¥ Ot 0 500 5 @i >R B8 00

OD.

SH

>+
OH
[

O 06 F

138




(XKR&ES KD . N
IDEB &= B B R 108 1—2 ZERE FrEHRE
I B f# X
JNU—R—)U E—F/\U—Mh—)U
(8 R & k) ‘
A)xeg m N E = 108 O0—2 AE FEBE
R &5 B 5
dH/44.500
L8 R 2E R 5A8/37700
N o o= | 20P%/37.000
NS SRS & e ﬁ % Bt/ 46.700 261
N 2'; 14z HO Z171%/42.400
5 5 @ @ | #%#%/40500
&51248.800
Kig (NIRRT
LR R D am/45950
L % 7 g | BENTGE/33850
A)xeg Bz =] 0 * - g E158/38.000 29111
= N ;& | 190/48700
g 27 &5t161.500
G B E3 I3
. : N 2@ TIx—/Ia BEES "
1 O T7—2 8=
F.65kgik b N g L 2 [O)& 2—0 1dvmé 511
ERRE 2—6 HEE
5B
. — o 108 TOx—ILBE SBUE e S
. = < 108 TOx—)UB KDE ks
Fe53kgth 2 H T =E 108 TOx—/L8 TXE 1 QEBLE
qF
L2V FeB62kgih =S N O BEVAN 108 O0—8 IR 1 OEHRLE
Fe51kgih mogx = iE 108 TOx—)L8 #BF/IE 1 @EHBHE
Fe55kgik B B 9 RB @ B8 108 1—3 =88 1 QLR
Fe60k gtk £ B8 & ®H 3 208 ToOx—)La =88 2 O#EHBHE
DB Fe65kgik B /| & 3 108 TOx—)L8 RKREE 1 OEER
G71kgik B B = fc 208 Jx-—/La RIBE 2 O BHE
G992k gfh i 8 e 108 TOx—/L8 BFEE 1 QEBLE
G125k gtk B B B X 108 Jx—/l8 EES 1 OEEGR
EERODOAYEY =DV | B OB OE I 83m 271
5B
L—Y—#k X B8 X BB 85m 2 611
B % B M = o
“ 420k L B = > N 139 301z
- D NS
L——5I77)UEk £ B8 B It 35m 7 fiI
' R K F = "
420%R e B = | 119% 2 41
A)xeg
L—5—5I7P)Lik i) 28] ==} 162R 3111
AFTvF 107keg AFwvF 151
61k gk = N 5, D )—=V&Yv—2 130ksg Iv—D 15{1
=&)L 177ksg =&)L 1411
AFTwvF 107ksg ATFvF 161U
73k gk 5 B = 2 D)=V &Yv—2 130ksg Iv—2 18I
=" 237Tksg =&)L 161
AFTvF 124ksg ATFwvF 131
81k gtk 18 = I D)=V &Yv—2 130ksg Iv—20 17T
=&)L 254kg =&)L 171
s AFvF 105k g ATFwvF 144
DIARUITAYT BB 89k gk B S @ th| DU-V&Yv—o 140ke Yv—2 1 4f1
k=&)L 245kg =&)L 1441
2FwvF 80kg 2> vF 18
89k gk = & piez} A D)=V &Iv—"D 9O7ksg Iv—2 1911
=8I 177keg =&)L 1 81
ATFTvF 9O90ksg ATFTvF 1111
96 k gk pa & A — O)—=2&¥v—2 100keg Iv—20 1114
=&)L 190k g =&)L 111
AFvF 92ksg AFwvF 131
102k g#h i e B D )=V&Iv—2D 118ksg Iv—=20 1211
k=&)L 210kg =&)L 1211




(& 1R E KD
F—L2TUYk 2 2 5 2| 3F = sowszs FRE0E
O N
(B I8 B k)
% N @ &
akmF-Lc)a-k | EOE L | P M 45A5BTS SEHE
2 m &
R A& E 9
< TE 115111 -
. it o o m a | BEEDR RORE FEHGE
O—p RohziE
27U+ P B B = | 108 6 SEHE
KAV L—2 BhEiE
B o m0
O—p OB 25 7H58W 3011
295y F S 5 | B ' 19 BGE
1 kmOCLRSAPIL | B & 5 | kOB 14978420 1 51
EeRE R
R ENE RN
F—AZTUY % % £ % 3 ® 26 $REGE
D N & =
X . 108148 51 \
- TAIY W % = B | geewmiE 3w R
295y F P N B E | shme
500m5-LkS1PI S 447020 331
e m ¥
O—p RohziE
) _ | 1855 em \
TAIY M B R | g=swsem 6 MR
KAV L—2 BhEiE
W B =
- O—p RohziE
295y F 3 2 s 8GR
% A B 3
O—p OB 2851 9508 551
TkmOCILRSAPIL | B A B A BB | 3 B 1959W344 1 81 "
(B 18 IR )
Boos B
JIRF=2 Dy E g % ; oEE 1-2 Wke CEEEE
A W & B
J EE 1E ? 70
LB EER)L | 3my-—r 2-3 mnA
2 =2 2 7 0-3 mreE
(wEkEER) | 2077 SO lUsE
Bv = - I7|_\
s W L 23 £ 7 3-0 B8E 311 165
OB = 3| wam o_2 20T
HERPS 0—3 ZEXE
AR D)
Vg % e $ | 19m 2-3 =uS 1 EEE
A W C_ O =
265
(WESERT)
2 m = &
R B i W
o E &
mox B A
X 8 5 =
5 W A &
‘ OB B 5
IR S o & T B8 | 1@ 10—11 BE= 1 OHEGE
T 5
5 m ' A
E ® = =A
T A B #H
LW A B ¥
= @ B
: £ — =
5io0m %= W -
N EEERL | smiEn 0-3 s
B 2 2 . 5| 3220%m 0-3 DR SEIGE
| R (& B % k)
HJ, . A ; Z1@8 O0—5 BHE
= oE S E108 0-5 SIME -
DB noe B A | ®m2E% 0-5 —=8 FERE
B Ili/@\\ ﬂ)z\
N = fié 10
R By 5—E—3R B = B T | xiE

10




108 1—-2 BSE

108 3-0 1hEs
( 8 2 K ) 2—1 SEAI
HE n 85 X F 3—0 #HBE
“ ; % & 8 | 20% 3-0 WEE
H—J P OB & 3 2—1 EEE 51
3@ 2—0 H=RH
HERRE 2—0 =58
S5~SITREHTIHE 2—0 HRULE
5~ 6 IR 2—1 dnme
1@ 1—2 BE=S
J)L—U 0—3 MmE REEELSE!
0—3 mre=
\ 108 0—3 =Z=&
3
2TV é‘%*ﬁﬁ=§f§ 1—2 HEE
m § @ 2—1 =EFB
IR > 2 Ol 1—2 =88 Tha
2—1 RBHE
ERRE 0—2 S=EBA
5~8hRTY 1—2 BES
T~SHREYE 2—1 BHE
%|%$EE%%Z% 1 O 8—$ iﬁ@
— > - = ||,—|—\ N
H v ? 5 | 2o% 0-3 BER 2BIRReE
iR n C 0—3 #z)|8
<%1EE%WEL 1 O 8_? %ﬁ%
_ = gz = — sy ks
5 5 0—3 =8 P
(B8 R & k)
2 oW B
z B S @ § > B 1Em o-4 mR 1 OBECE
L B
L N = 70
Fgﬂ@ @gl S ZN=
=TS 1@8 2—0 EAS
R = B B R -2 EHE Shi1
m = =
INRIVRY
( 8 2 IR
W % % oEE 0—2 Fee o EHHE
= 8
17.5
ez 15% 1R %% T B 14 TEHE
= D%ed \ IE 5 - . " <
ATEY F %0 ¥ E 12fu TEHBLR
10
FR60OPR ¥ ® 605. 34 1811 FRUGE
il =
FR2OK OB 1814 1 441
ARB0O ¥ E 586. 845 FRHUGE
5 = th
ARBOPR OB 521, 15 2 4
EBEE D8 35
CFP60 EE1,/ 2845 16{
o 85t/567%5
CFP30 287/H 311
%?/170§
fREY,/1 884 -
S )LHE R3P _ 8,167 S TEBOR
AR = + Bt/ 5674 FHE21U
ARBOPR OB 592, 04 21 i1
BR60J %5 = T E 61648 1611 FRHUGE
DB
ARB0OJ B — $ E 594. 45 131 FRHUGE
e BP6EOWJ il = 2B 125 0 7
/,\ jv? ig 622. 5“5\\ i
- = 5,308, 64
MIX/DEE BRMixxJ h e "5 ME/309. 1= THRAE
A B &5t/617. 72  F810M .
( 8 = R
1\ 1F
il X 108 2—1 (kEE s
RE £ oO¥ 2-3 WeR 2ERRE
= £
s @
G
( 8 =
sz W & D
By % : % 188 0-5 K=E 1 OEIGE
2 B L =
il -

10




(& R & K )

X @ it
= 7K fleod %
B s F Fil
woom KN
@ 25| = T
B B iy)! A
X R e
RO 2 EOA
g N (=) E
R 25| ==
T N B e o
INEB = B 50 & 108 14—29 EBE 1 [OERLE
g M H B A
WNT{ETRT 7Y
IR R
% =
18 i =
STE=Ty b=l . 2%,; i ;é
X & B a8}
IR H 8 fié
S R U 5
" B 2 &
W £ =] =
IR TP
0
=) = [=]
= N = R FET—-I)L 60—0 BHE
—F \ 8 JTL — = /Lr\
4% X W B R | RBR—T XY 1O 61 15
12 AN T B 10—15 #BHF/IE
= N A0 S5~TIREFmME 36—7 meg
a 25| * 3R 5~6LRTEE 14—33 BEE
i ~ X =
= ® O % .
. SN Nz Wl SEELE
2K—voSc3vT| BB RN -
J— REst R B B B g SRR
10
Wk BB L 500m Fay SALDA29 HOB ERBER
7 B B =
TR BT L 200m gﬁ*ﬁ‘%% j}%g?i ﬁ;g?% SESRBKEGE
58
AUIN I AT 500m jjél% %218%2;%) iggg EERESBLE
a = it A
AU DIT ATV 200m z,% jg%??? ig?% EERPSEE
TR BT L 500m ?z § %?}?;%ggg iggg ofi1
Lz R = 8
7 BT L 200m ;j?ﬁlﬂg% 22%‘\12?? ﬁ%ég ofi1
TR BT 500m g’gz f% 12233:1529%18‘;3% n«%%g% SESRBGE
X 2 2= B8
Uk BRIl 200m ;jé% ji%ggé 252% SESRBABE
T $ B 2528W867 6B e s
A7 NI ATOII L 500m EREE 001 376900 IHSE ESRSHULE
HR— ua) S i A
N - YNNLN 3?7 i% 50*@‘470 ?I{\\HS% N N ML N
A2 UIN T AT 200m EREE 401432 H5E EREBLE
IDES
Uk BN T 500m “Z § ]gig%?i% ?EE off1 7
E &=
9 B B =
77Uk BN T 200m B4 ,‘% gg%g%g i‘g%% 3 6
Uk B9 NT 500m ?Z § %ﬁég%g%g ig%% 3 6
)i F B & F
x 5 8\ @
U 5 T 7 - T B 46664 H3E
7APNT 200m OB A3%002 3= 3 6
e e 3 ® 29208003 4= s
A7YIh myINRTZ 500m N SERRE 291 2046 H4E FERESRLE
A0 R = =
=S B & R B
Tk IWIRP 200m 4%
3oy
= ‘E VAN
WD P 500m| (WEEMER) | L ]gig%g;g 25 At 15
=8 ZF O H ’
E 7 =
WWAMDAP 200m | B B B 3 D | 4w 4anoos 198 311 18

68




HF - BRER w3 B 3| 1@ 0—8 =E 1 EIEBGE
HHF - DER 2 U B @ | 108 1-5 #I)E 1 QIEBHE
B {AF - T2 BEoOoWw @8 F | 288 1—-5 A= 2 AR
é.%$ﬁéiﬁ)
s oo Ja3 & Ln. g‘ N _ = Y= e
HFE (D) 2y omx B | 188 0-3 XM 1 EIEEBGE
T FE 2 U B
i = B = | 3UYR1 3 Sy R1BE
%oy
$BF &€ B B = | 20 2-3 WOE 2 AR
IDEB $BF B OB B O3 | com mA&d S 2 AR
N 108 6—2 WH=E s
)%y AF B U B K B | ogi 1-5 o8 2 AR "
(&8 R & k)
e ? 2 - % o 0—3 ADE 2 OHAR
S B 2 i
SRS
(8 R &8 k) ‘
DB W A S T 8 1@% 0—3 mres BER—F XYk
B % B 8 | BEF—IXAVR1OE 1-—2 KEME 1 EIEEBLE
2 B B = 10
(8 R &8 k)
BRI %z 8 B | 1@ 1—-4 mBrRES 1 EIEEBGE
= | 0
2x4 (B8 1R & k) O o1
e A -4 ﬁ Dﬁ g &, - ijg?/Lv— Bk gAY
oﬂljﬁﬂ.}gz _I%_ =) ;\—;,Z S@ﬁ 1—2 7(73'7% S@ﬁg\gﬁ
. 6 ® OB F
- (EEXESK)
eots73:5: 25 5 B & 2 | 1O 2-3 FTzE= EEELSE!
B OB 8 E
D (BELERR)
SO 2 % 2 § 1@ 1—2 =ESe 1 EEEGE
= 28 ¥ =S 10
§|%$Eﬁém)
i i H = _ .
) = m 3 B
S
; %g&ﬁ%%i%
e _ S _ v
gF DA (BAF—L) 5 % T a n | 5282h0-7 4 51
B i £ = 10
B B 5w 1E | 2:EON150 331
S P20V 1T B | 21BR9901 17 1 Ofi1
gF
W OB E B | 2182893 7H 6 0fi1 0
ZDH G HEESNSA
ROV NV RIR=)b. YD RR—=IL. ROUVT, P=Ft)—, N7y RR—)L) 60
AAREE
280 650
57 70ERKREN (BLHS) B85 680




